



On a new weighted Hermite-Hadamard inequality, application for weighted means

Mustapha Raïssouli^a, Mohamed Chergui^b, Lahcen Tarik^c

^aDepartment of Mathematics, Faculty of Science, Moulay Ismail University, Meknes, Morocco.

^bDepartment of Mathematics, CRMEF-Rabat-Sale-Kenitra, EREAM Team, LaREAMI-Lab, Kenitra, Morocco.

^cLAGA-Laboratory, Science Faculty, Ibn Tofail University, Kenitra, Morocco.

Abstract. The purpose of this paper is to introduce a weighted Hermite-Hadamard inequality which generalizes the standard one. Some refinements and reverses of this weighted inequality are pointed out. As application, some new weighted means are derived and their related inequalities are investigated as well.

1. Introduction

Let C be a nonempty interval of \mathbb{R} . A function $f : C \rightarrow \mathbb{R}$ is called convex if the inequality

$$f((1 - \lambda)a + \lambda b) \leq (1 - \lambda)f(a) + \lambda f(b) \quad (1)$$

holds for any $a, b \in C$ and $\lambda \in [0, 1]$. We say that f is concave if (1) is reversed.

The following double inequality

$$f\left(\frac{a+b}{2}\right) \leq \int_0^1 f((1-t)a + tb) dt \leq \frac{f(a) + f(b)}{2} \quad (2)$$

holds for any $a, b \in C$, whenever $f : C \rightarrow \mathbb{R}$ is convex. If f is concave then (2) are reversed. Inequality (2), known in the literature as the Hermite-Hadamard inequality (HHI), is useful in mathematical analysis and contributes as good tool for obtaining some interesting estimations. An enormous amount of efforts has been devoted in the literature for extending (2) from the case where the variables are real numbers to the case where the variables are bounded linear operators, see [1, 4–8] for instance.

The present manuscript contains four sections organized as follows: In Section 2, we collect some weighted means from the literature that will be needed along the paper. Section 3 displays with the so-called weighted Hermite-Hadamard inequality that refines (1) and generalizes (2). Some refinements and reverses of this weighted inequality are investigated. As application, Section 4 is focused to derive some new weighted means and so we study their elementary properties as well as their comparison with some known weighted means.

2020 *Mathematics Subject Classification.* Primary 47A63, 26D15, 26D99

Keywords. Weighted Hermite-Hadamard inequality, weighted means

Received: 13 August 2023; Accepted: 19 February 2024

Communicated by Fuad Kittaneh

Email addresses: raïssouli.mustapha@gmail.com (Mustapha Raïssouli), chergui_m@yahoo.fr (Mohamed Chergui), lahcen.tarik@uit.ac.ma (Lahcen Tarik)

2. Standard weighted means

Recently, the mean-theory attracts many mathematicians by virtue of its nice properties and various applications. As usual, we understand by (binary) mean a map m between positive numbers such that $\min(a, b) \leq m(a, b) \leq \max(a, b)$ for all $a, b > 0$. Among the standard means, we recall the following

$$a\nabla b = \frac{a + b}{2}, \quad a\sharp b = \sqrt{ab}, \quad a!b = \frac{2ab}{a + b}, \quad L(a, b) = \frac{b - a}{\log b - \log a}, \quad I(a, b) = e^{-1} \left(b^b / a^a \right)^{1/(b-a)},$$

with $L(a, a) = a$ and $I(a, a) = a$. These are known as the arithmetic mean, the geometric mean, the harmonic mean, the logarithmic mean and the identric mean, respectively. These means satisfy the chain of inequalities, $a!b \leq a\sharp b \leq L(a, b) \leq I(a, b) \leq a\nabla b$, see [2].

Let m_λ be a family of binary maps indexed by $\lambda \in [0, 1]$. We recall the following, [10]

Definition 2.1. We say that m_λ is a weighted mean if the following assertions hold:

- (i) $m_0(a, b) = a$ and $m_1(a, b) = b$,
- (ii) m_λ is a mean, for any $\lambda \in [0, 1]$,
- (iii) $m_{1/2} =: m$ is a symmetric mean,
- (iv) $m_\lambda(a, b) = m_{1-\lambda}(b, a)$ for any $a, b > 0$ and $\lambda \in [0, 1]$.

It is obvious that, (iv) implies (iii). We say that the mean $m =: m_{1/2}$ is the associated symmetric mean of m_λ and m_λ is the weighted m -mean.

The standard weighted means are the following

$$a\nabla_\lambda b = (1 - \lambda)a + \lambda b, \quad a\sharp_\lambda b = a^{1-\lambda}b^\lambda, \quad a!_\lambda b = \left((1 - \lambda)a^{-1} + \lambda b^{-1} \right)^{-1},$$

which are the weighted arithmetic mean, the weighted geometric mean and the weighted harmonic mean, respectively. For $\lambda = 1/2$ they coincide with $a\nabla b$, $a\sharp b$ and $a!b$, respectively. These weighted means satisfy the following inequalities, $a!_\lambda b \leq a\sharp_\lambda b \leq a\nabla_\lambda b$.

Two other weighted means have been introduced in the literature [9], namely

$$L_\lambda(a, b) = \frac{1}{\log a - \log b} \left(\frac{1 - \lambda}{\lambda} (a - a^{1-\lambda}b^\lambda) + \frac{\lambda}{1 - \lambda} (a^{1-\lambda}b^\lambda - b) \right), \quad a \neq b, \tag{3}$$

$$I_\lambda(a, b) = \frac{1}{e} \left(a\nabla_\lambda b \right)^{\frac{(1-2\lambda)(a\nabla_\lambda b)}{\lambda(1-\lambda)(b-a)}} \left(\frac{b^{\frac{\lambda b}{1-\lambda}}}{a^{\frac{(1-\lambda)a}{\lambda}}} \right)^{\frac{1}{b-a}}, \quad a \neq b. \tag{4}$$

One has $L_0(a, b) := \lim_{\lambda \downarrow 0} L_\lambda(a, b) = a$ and $L_1(a, b) := \lim_{\lambda \uparrow 1} L_\lambda(a, b) = b$, with similar equalities for $I_\lambda(a, b)$. One can see that L_λ and I_λ satisfy the conditions (ii),(iii) and (iv). For $\lambda = 1/2$, they coincide with $L(a, b)$ and $I(a, b)$, respectively. Therefore, following Definition 2.1, L_λ and I_λ can be called the weighted logarithmic mean and the weighted identric mean, respectively.

It has been shown in [9] that the following inequalities hold true

$$a\sharp_\lambda b \leq L_\lambda(a, b) \leq a\nabla_\lambda b, \quad a\sharp_\lambda b \leq I_\lambda(a, b) \leq a\nabla_\lambda b.$$

Remark 2.2. When a weighted mean m_λ is given, its associated symmetric mean is of course unique. However, it is possible to have more one weighted mean whose the associated symmetric mean is the same. Section 4 below explains more this latter situation where we will define a weighted logarithmic mean and a weighted identric mean that are different from the previous ones.

3. Weighted Hermite-Hadamard inequality

The following result gives a refinement of (1) and a generalization of (2).

Theorem 3.1. *Let $f : C \rightarrow \mathbb{R}$ be convex. For any $\lambda \in]0, 1[$ and $a, b \in C$ the following inequalities hold*

$$f((1 - \lambda)a + \lambda b) \leq \int_0^1 f((1 - t)a + tb)dv_\lambda(t) \leq (1 - \lambda)f(a) + \lambda f(b), \tag{5}$$

where v_λ is the probability measure defined on $[0, 1]$ by

$$dv_\lambda(t) = \left((1 - \lambda)(1 - t)^{\frac{1-2\lambda}{\lambda}} + \lambda t^{\frac{2\lambda-1}{1-\lambda}} \right) dt. \tag{6}$$

If $f : C \rightarrow \mathbb{R}$ is concave then (5) are reversed.

Proof. Applying the Jensen integral and discrete inequalities, we obtain

$$f\left(\int_0^1 ((1 - t)a + tb)dv_\lambda(t)\right) \leq \int_0^1 f((1 - t)a + tb)dv_\lambda(t) \leq \int_0^1 ((1 - t)f(a) + tf(b))dv_\lambda(t). \tag{7}$$

Using (6) and computing the involved integrals by elementary topics of real-integration, we get the desired inequalities. The details are simple and therefore omitted here. \square

Remark 3.2. (i) In what follows, (5) will be called the weighted Hermite-Hadamard inequality, (WHHI) is short. If $\lambda = 1/2$ then (5) coincides with (2), i.e. $dv_{1/2}(t) = dt$. Further, $dv_{1-\lambda}(1 - t) = dv_\lambda(t)$ for any $\lambda \in]0, 1[$.

(ii) For the sake of simplicity, we extend the weighted arithmetic mean from positive numbers to any real numbers by setting throughout the following

$$x\nabla_\lambda y := (1 - \lambda)x + \lambda y, \text{ for any } x, y \in \mathbb{R} \text{ and } \lambda \in [0, 1].$$

With this notation, (5) can be shortly written as

$$f(a\nabla_\lambda b) \leq \int_0^1 f(a\nabla_t b)dv_\lambda(t) \leq f(a)\nabla_\lambda f(b). \tag{8}$$

(iii) Setting $x = (1 - t)a + tb$, with $a < b$, (5) and (8) are equivalent to

$$f(a\nabla_\lambda b) \leq \frac{1}{b - a} \int_a^b f(x)d\mu_\lambda(x) \leq f(a)\nabla_\lambda f(b),$$

where we set

$$d\mu_\lambda(x) := \left((1 - \lambda)\left(\frac{b - x}{b - a}\right)^{\frac{1-2\lambda}{\lambda}} + \lambda\left(\frac{x - a}{b - a}\right)^{\frac{2\lambda-1}{1-\lambda}} \right) dx.$$

The previous weighted Hermite-Hadamard inequality has many consequences. In particular, we have the following result which gives a refinement of the standard Hermite-Hadamard inequality.

Corollary 3.3. *If $f : C \rightarrow \mathbb{R}$ is convex then for any $a, b \in C$, there holds*

$$f(a\nabla b) \leq \int_0^1 f(a\nabla_t b)dt \leq J_f(a, b) \leq f(a)\nabla f(b), \tag{9}$$

where we set

$$J_f(a, b) := \int_0^1 \int_0^1 f(a\nabla_t b) dv_\lambda(t)d\lambda.$$

If f is concave then (9) are reversed.

Proof. Integrating (8) with respect to $\lambda \in]0, 1[$ and using the left hand-side of (2) we get (9). \square

For the sake of simplicity we set, for $a, b \in C$ and $\lambda \in]0, 1[$,

$$\mathcal{M}_\lambda(f; a, b) = \int_0^1 f((1-t)a + tb) dv_\lambda(t). \tag{10}$$

The following corollary justifies that the map $\lambda \mapsto \mathcal{M}_\lambda(f; a, b)$ can be extended on the whole interval $[0, 1]$.

Corollary 3.4. *Let $f : C \rightarrow \mathbb{R}$ be convex (resp. concave). For any $a, b \in C$ there holds*

$$\lim_{\lambda \downarrow 0} \mathcal{M}_\lambda(f; a, b) = f(a), \quad \lim_{\lambda \uparrow 1} \mathcal{M}_\lambda(f; a, b) = f(b).$$

Proof. Follows from (5) by using the fact that if $f : C \rightarrow \mathbb{R}$ is convex then it is continuous on $[a, b] \subset C$. \square

Proposition 3.5. *For any $a, b \in C$ and $\lambda \in [0, 1]$ there holds*

$$\mathcal{M}_{1-\lambda}(f; a, b) = \mathcal{M}_\lambda(f; b, a) \tag{11}$$

Proof. By (6) and (10) we have

$$\mathcal{M}_{1-\lambda}(f; a, b) = \int_0^1 f((1-t)a + tb) dv_{1-\lambda}(t).$$

Making the change of variable $t = 1 - u$ and using the relationship $dv_{1-\lambda}(1-t) = dv_\lambda(t)$, with (10) again, we get the desired result. \square

To state another result, we need the following lemma, see [3].

Lemma 3.6. *If $f : C \rightarrow \mathbb{R}$ is convex, the following inequalities*

$$r(s, t)(f(a)\nabla_s f(b) - f(a\nabla_s b)) \leq f(a)\nabla_t f(b) - f(a\nabla_t b) \leq R(s, t)(f(a)\nabla_s f(b) - f(a\nabla_s b)), \tag{12}$$

hold for any $a, b \in C$ and $s, t \in]0, 1[$, where we set

$$r(s, t) := \min\left(\frac{t}{s}, \frac{1-t}{1-s}\right), \quad R(s, t) := \max\left(\frac{t}{s}, \frac{1-t}{1-s}\right). \tag{13}$$

If f is concave then (12) are reversed.

It is clear that (12) refines and reverses (1). For $s = t$, (12) are equalities. We also need the following lemma.

Lemma 3.7. *For any $s, \lambda \in]0, 1[$, the following equalities hold*

$$\int_0^1 r(s, t) dv_\lambda(t) = \alpha_{1-s, \lambda} + \alpha_{s, 1-\lambda} \tag{14}$$

and

$$\int_0^1 R(s, t) dv_\lambda(t) = \frac{\lambda}{s} + \frac{1-\lambda}{1-s} - \alpha_{1-s, \lambda} - \alpha_{s, 1-\lambda}, \tag{15}$$

where, for $a, b > 0$, we set

$$\alpha_{a, b} := b^2 \frac{1 - a^{\frac{1-b}{b}}}{1 - a}.$$

Proof. It is easy to see that $\frac{t}{s} \leq \frac{1-t}{1-s}$ if and only if $0 \leq t \leq s$. Therefore, we write

$$\int_0^1 r(s, t) dv_\lambda(t) = \frac{1}{s} \int_0^s t dv_\lambda(t) + \frac{1}{1-s} \int_s^1 (1-t) dv_\lambda(t). \tag{16}$$

By using (6), we have

$$tdv_\lambda(t) = (1-\lambda)(1-t)^{\frac{1-2\lambda}{\lambda}} - (1-\lambda)(1-t)^{\frac{1-\lambda}{\lambda}} + \lambda t^{\frac{\lambda}{1-\lambda}}.$$

Using $dv_\lambda(t) = dv_{1-\lambda}(1-t)$ and some elementary computations we get

$$\int_0^s t.dv_\lambda(t) = -\lambda(1-s)^{\frac{1-\lambda}{\lambda}} + \lambda(1-\lambda) \left[(1-s)^{\frac{1}{\lambda}} + s^{\frac{1}{1-\lambda}} \right] + \lambda^2$$

and

$$\begin{aligned} \int_s^1 (1-t) dv_\lambda(t) &= \int_s^1 (1-t) dv_{1-\lambda}(1-t) \\ &= \int_0^{1-s} t dv_{1-\lambda}(t) \\ &= -(1-\lambda)s^{\frac{\lambda}{1-\lambda}} + \lambda(1-\lambda) \left[(1-s)^{\frac{1}{\lambda}} + s^{\frac{1}{1-\lambda}} \right] + (1-\lambda)^2. \end{aligned}$$

Substituting in (16), we obtain (14) after some algebraic manipulations.

For proving (15), it is sufficient to notice that

$$R(s, t) + r(s, t) = \frac{1}{1-s} + \frac{1-2s}{s(1-s)}t,$$

and then we have

$$\begin{aligned} \int_0^1 R(s, t)dv_\lambda(t) + \int_0^1 r(s, t)dv_\lambda(t) &= \frac{1}{1-s} \int_0^1 dv_\lambda(t) + \frac{1-2s}{s(1-s)} \int_0^1 t dv_\lambda(t) \\ &= \frac{1}{1-s} + \frac{1-2s}{s(1-s)}\lambda. \end{aligned}$$

Hence, the desired result is obtained. \square

Now, we are in the position to state the following result which gives a refinement and a reverse of the right inequality in (5).

Theorem 3.8. *Let $f : C \rightarrow \mathbb{R}$ be convex. For any $s, \lambda \in (0, 1)$ and $a, b \in C$ the following inequalities hold*

$$m(s, \lambda)(f(a)\nabla_s f(b) - f(a\nabla_s b)) \leq f(a)\nabla_\lambda f(b) - \int_0^1 f(a\nabla_t b)dv_\lambda(t) \leq M(s, \lambda)(f(a)\nabla_s f(b) - f(a\nabla_s b)), \tag{17}$$

where we set

$$\begin{aligned} m(s, \lambda) &:= (1-\lambda)^2 \frac{1-s^{\frac{\lambda}{1-\lambda}}}{1-s} + \lambda^2 \frac{1-(1-s)^{\frac{1-\lambda}{\lambda}}}{s} \\ M(s, \lambda) &:= \frac{1-\lambda}{1-s} + \frac{\lambda}{s} - m(s, \lambda) \end{aligned}$$

If f is concave then (17) are reversed.

Proof. Multiplying all sides of (12) by $dv_\lambda(t)$ and then integrating with respect to $t \in [0, 1]$, we obtain the desired inequalities by the use of (14) and (15). The details are simple and therefore omitted here for the reader. \square

Taking $s = 1/2$ in Theorem 3.8, we get after some reductions the following result.

Corollary 3.9. For $f : C \rightarrow \mathbb{R}$ convex, $\lambda \in (0, 1)$ and $a, b \in C$, there holds

$$l(\lambda)(f(a)\nabla f(b) - f(a\nabla b)) \leq f(a)\nabla_\lambda f(b) - \int_0^1 f(a\nabla_t b)dv_\lambda(t) \leq u(\lambda)(f(a)\nabla f(b) - f(a\nabla b)), \quad (18)$$

where we set

$$l(\lambda) := 2 \left[(1 - \lambda)^2 \left(1 - 2^{\frac{1}{1-\lambda}} \right) + \lambda^2 \left(1 - 2^{\frac{1}{\lambda}} \right) \right] \text{ and } u(\lambda) := 2 - l(\lambda).$$

If f is concave then (18) are reversed.

For the sake of convenience, we consider the function $x \mapsto \mathcal{N}_{f;\lambda,a,b}(x)$ defined on $[0, 1]$ by

$$\mathcal{N}_{f;\lambda,a,b}(x) = \int_0^1 f((a\nabla_\lambda b)\nabla_x(a\nabla_t b))dv_\lambda(t). \quad (19)$$

The following result concerns a refinement of the left inequality in (5).

Theorem 3.10. Let $f : C \rightarrow \mathbb{R}$ be convex, $a, b \in C$ and $\lambda \in [0, 1]$, there holds

$$\begin{aligned} f(a\nabla_\lambda b) &\leq \int_0^1 f((a\nabla_\lambda b)\nabla_\lambda(a\nabla_t b))dv_\lambda(t) \leq \int_0^1 \mathcal{M}_\lambda(f; a\nabla_\lambda b, a\nabla_t b)dv_\lambda(t) \\ &\leq f(a\nabla_\lambda b)\nabla_\lambda \mathcal{M}_\lambda(f; a, b) \leq \int_0^1 f(a\nabla_t b)dv_\lambda(t). \end{aligned} \quad (20)$$

If f is concave then (20) are reversed.

Proof. By using the Jensen integral inequality, we get

$$\mathcal{N}_{f;\lambda,a,b}(x) \geq f\left(\int_0^1 (a\nabla_\lambda b)\nabla_x(a\nabla_t b)dv_\lambda(t)\right) = f(a\nabla_\lambda b).$$

By the convexity of f and the fact that $f(a\nabla_\lambda b) \leq \mathcal{M}_\lambda(f; a, b)$, we get

$$\begin{aligned} \mathcal{N}_{f;\lambda,a,b}(x) &\leq \int_0^1 f(a\nabla_\lambda b)\nabla_x f(a\nabla_t b)dv_\lambda(t) = f(a\nabla_\lambda b)\nabla_x \mathcal{M}_\lambda(f; a, b) \\ &\leq \mathcal{M}_\lambda(f; a, b). \end{aligned}$$

Thus,

$$f(a\nabla_\lambda b) \leq \mathcal{N}_{f;\lambda,a,b}(x) \leq f(a\nabla_\lambda b)\nabla_x \mathcal{M}_\lambda(f; a, b) \leq \mathcal{M}_\lambda(f; a, b). \quad (21)$$

Noticing that $x \mapsto \mathcal{N}_{f;\lambda,a,b}(x)$ is a convex function, we can apply (8) for obtaining

$$\mathcal{N}_{f;\lambda,a,b}(\lambda) \leq \int_0^1 \mathcal{N}_{f;\lambda,a,b}(t)dv_\lambda(t) \leq (1 - \lambda)\mathcal{N}_{f;\lambda,a,b}(0) + \lambda\mathcal{N}_{f;\lambda,a,b}(1).$$

Then,

$$\mathcal{N}_{f;\lambda,a,b}(\lambda) \leq \int_0^1 \mathcal{M}_\lambda(f; a\nabla_\lambda b, a\nabla_t b)dv_\lambda(t) \leq (1 - \lambda)f(a\nabla_\lambda b) + \lambda \int_0^1 f(a\nabla_t b)dv_\lambda(t). \quad (22)$$

By combining (21) and (22) we get (20), so completing the proof. \square

We have also the following result.

Theorem 3.11. *Let $f : C \rightarrow \mathbb{R}$ be convex and differentiable. For all $a, b \in \overset{\circ}{C}$ with $a < b$, the following inequalities*

$$0 \leq \int_0^1 f(a\nabla_t b)dv_\lambda(t) - N_{f,\lambda,a,b}(u) \leq (b - a)(1 - u) \int_0^1 (\lambda - t)f'(a\nabla_t b)dv_\lambda(t) \tag{23}$$

hold for any $u \in [0, 1]$.

Proof. The left inequality is a straightforward deduction from (21). For the right inequality, we use the fact that f is a differentiable convex function to write $f(\alpha) - f(\beta) \geq (\alpha - \beta)f'(\beta)$, with $\alpha = (a\nabla_\lambda b)\nabla_u(a\nabla_t b)$ and $\beta = a\nabla_t b$. Hence,

$$f((a\nabla_\lambda b)\nabla_u(a\nabla_t b)) - f(a\nabla_t b) \geq (1 - u)(b - a)(\lambda - t)f'(a\nabla_t b). \tag{24}$$

Multiplying both sides of (24) by $dv_\lambda(t)$ and integrating with respect to $t \in [0, 1]$, we find the right inequality in (23). \square

If we take $u = 0$ in (23), we get the following result which gives a refinement and a reverse of the left inequality in (5).

Corollary 3.12. *With the same assumptions as in Theorem 3.11, we have*

$$0 \leq \int_0^1 f(a\nabla_t b)dv_\lambda(t) - f(a\nabla_\lambda b) \leq (b - a) \int_0^1 (\lambda - t)f'(a\nabla_t b)dv_\lambda(t). \tag{25}$$

4. Application: some new weighted means

As already stated, our aim in the ongoing section is to derive some new weighted means. We begin by stating the following.

Proposition 4.1. *For $a, b > 0$ and $\lambda \in [0, 1]$, we set*

$$\mathcal{L}_\lambda(a, b) := \left(\int_0^1 \frac{dv_\lambda(t)}{(1 - t)a + tb} \right)^{-1}. \tag{26}$$

$$\mathcal{I}_\lambda(a, b) := \exp \left(\int_0^1 \log((1 - t)a + tb)dv_\lambda(t) \right). \tag{27}$$

Then \mathcal{L}_λ is a weighted logarithmic mean and \mathcal{I}_λ is a weighted identric mean.

Proof. Take $C = (0, \infty)$ and $f(x) = 1/x$. Using the definition of $a!_\lambda b$ and $a\nabla_\lambda b$, (8) with (26) implies that $\min(a, b) \leq a!_\lambda b \leq \mathcal{L}_\lambda(a, b) \leq a\nabla_\lambda b \leq \max(a, b)$. We then deduce that \mathcal{L}_λ is a mean for any $\lambda \in [0, 1]$ and $\mathcal{L}_0(a, b) = a, \mathcal{L}_1(a, b) = b$. Since $dv_{1/2}(t) = dt$ then a simple computation of integral gives $\mathcal{L}_{1/2}(a, b) = L(a, b)$ the standard logarithmic mean. Finally, the relationship $\mathcal{L}_{1-\lambda}(a, b) = \mathcal{L}_\lambda(b, a)$ follows from (11). Summarizing, \mathcal{L}_λ satisfies all the conditions of Definition 2.1, with $\mathcal{L}_{1/2} = L$. So, \mathcal{L}_λ is a weighted logarithmic mean.

For \mathcal{I}_λ , we choose $f(x) = \log(x)$ which is concave on $(0, \infty)$. The details are similar to those of \mathcal{L}_λ and we left them here. \square

The following result gives a chain of inequalities concerning a comparison between some of the previous weighted means.

Theorem 4.2. *For any $a, b > 0$ and $\lambda \in [0, 1]$ there holds*

$$a!_\lambda b \leq \mathcal{L}_\lambda(a, b) \leq \mathcal{I}_\lambda(a, b) \leq a\nabla_\lambda b.$$

Proof. The inequalities $a!_{\lambda}b \leq \mathcal{L}_{\lambda}(a,b)$ and $\mathcal{I}_{\lambda}(a,b) \leq a\nabla_{\lambda}b$ were proved out before. We have to show $\mathcal{L}_{\lambda}(a,b) \leq \mathcal{I}_{\lambda}(a,b)$. Since the real function $x \mapsto -\log(x)$ is convex on $(0, \infty)$ then the Jensen integral inequality gives

$$-\log \int_0^1 \frac{dv_{\lambda}(t)}{(1-t)a + tb} \leq \int_0^1 \log((1-t)a + tb)dv_{\lambda}(t).$$

This, with (26) and (27), is equivalent to $\log \mathcal{L}_{\lambda}(a,b) \leq \log \mathcal{I}_{\lambda}(a,b)$, which concludes the proof. \square

Proposition 4.3. *If for $a, b > 0$ and $\lambda \in [0, 1]$, we set*

$$\mathbb{L}_{\lambda}(a,b) := \int_0^1 a^{1-t}b^t dv_{\lambda}(t),$$

then \mathbb{L}_{λ} is also a weighted logarithmic mean that satisfies

$$a\#_{\lambda}b \leq \mathbb{L}_{\lambda}(a,b) \leq a\nabla_{\lambda}b. \tag{28}$$

Proof. If we multiply the weighted arithmetic-geometric mean inequality, namely $a^{1-t}b^t \leq (1-t)a + tb$, by $dv_{\lambda}(t)$ and we integrate over $t \in [0, 1]$ we obtain the right inequality in (28). Now, using the fact that $x \mapsto \log(x)$ is concave on $(0, \infty)$, the Jensen integral inequality implies that

$$\log \int_0^1 a^{1-t}b^t dv_{\lambda}(t) \geq \int_0^1 ((1-t)\log a + t\log b)dv_{\lambda}(t) = (1-\lambda)\log a + \lambda\log b,$$

which yields the left inequality in (28). \square

Now, we will justify that the previous weighted means \mathcal{L}_{λ} (resp. \mathbb{L}_{λ}) and \mathcal{I}_{λ} are different from L_{λ} and I_{λ} defined by (3) and (4) respectively. For this, we consider the following example

Example 4.4. *Let us take $\lambda = 1/3$ and $a = 1, b = 2$. Using real integration tools, we find*

$$\begin{aligned} \mathcal{L}_{1/3}(1,2) &= 3 \left(\int_0^1 \frac{2-2t+t^{-1/2}}{1+t} dt \right)^{-1} = \frac{6}{8\log 2 + \pi - 4}; \\ \mathbb{L}_{1/3}(1,2) &= \frac{1}{3} \int_0^1 (2-2t+t^{-1/2})2^t dt = \frac{4\log^{\frac{3}{2}}(2)\mathbf{D}(\sqrt{\log(2)}) + 2 - \log 4}{3\log^2(2)}, \end{aligned}$$

where \mathbf{D} refers to the Dawson's integral defined by $\mathbf{D}(x) = \exp(-x^2) \int_0^x \exp(t^2)dt$.

$$\begin{aligned} L_{1/3}(1,2) &= \frac{3\sqrt[3]{2} - 2}{2\log 2}; \\ \mathcal{I}_{1/3}(1,2) &= \exp \left[\int_0^1 \left(\frac{2}{3} - \frac{2}{3}t + \frac{1}{3}t^{-1/2} \right) \log(1+t) dt \right] = 4 \exp \left(-\frac{13}{6} + \frac{\pi}{3} \right); \\ I_{1/3}(1,2) &= \frac{32}{9e}. \end{aligned}$$

Numerical computations lead to

$$\begin{aligned} \mathcal{L}_{1/3}(1,2) &\simeq 1.28019934; \mathbb{L}_{1/3}(1,2) \simeq 1.28460020; L_{1/3}(1,2) \simeq 1.28382773, \\ \mathcal{I}_{1/3}(1,2) &\simeq 1.30581223; I_{1/3}(1,2) \simeq 1.30801579. \end{aligned}$$

So, our claim is confirmed. See also Remark 2.2 which is in connection with this example.

Theorem 4.5. For any $s, \lambda \in [0, 1]$ and $a, b > 0$, there holds

$$e^{m(s,\lambda)} \frac{a\#_s b}{a\nabla_s b} \leq \frac{a\#_\lambda b}{\mathcal{I}_\lambda(a,b)} \leq e^{M(s,\lambda)} \frac{a\#_s b}{a\nabla_s b}. \tag{29}$$

In particular,

$$e^{-M(\lambda,\lambda)} a\nabla_\lambda b \leq \mathcal{I}_\lambda(a,b) \leq e^{-m(\lambda,\lambda)} a\nabla_\lambda b \leq a\nabla_\lambda b. \tag{30}$$

Proof. By applying (17) for the concave function $f(x) = \log x$ on $C = (0, +\infty)$, we find (29). Taking $s = \lambda$ in (29) we get (30). \square

Now we can state the following result which concerns some refinements of the inequalities in Theorem 4.2.

Theorem 4.6. For any $s, \lambda \in [0, 1]$ and $a, b > 0$, the following inequalities hold

$$m(s, \lambda) \left((a!_s b)^{-1} - (a\nabla_s b)^{-1} \right) \leq (a!_\lambda b)^{-1} - \mathcal{L}_\lambda^{-1}(a, b) \leq M(s, \lambda) \left((a!_s b)^{-1} - (a\nabla_s b)^{-1} \right).$$

Proof. We apply (17) to the convex function $f(x) = 1/x$ on $C = (0, +\infty)$. \square

Corollary 4.7. For any $\lambda \in [0, 1]$ and $a, b > 0$, we have the following inequalities,

$$(1 - M(\lambda, \lambda))(a!_\lambda b)^{-1} + M(\lambda, \lambda)(a\nabla_\lambda b)^{-1} \leq \mathcal{L}_\lambda^{-1}(a, b) \leq (a!_\lambda b)^{-1} \nabla_{m(\lambda,\lambda)}(a\nabla_\lambda b)^{-1}.$$

Proof. We take $s = \lambda$ in Theorem 4.6. Noticing that

$$m(\lambda, \lambda) = 1 - \left[(1 - \lambda)\lambda^{\frac{1}{1-\lambda}} + \lambda(1 - \lambda)^{\frac{1}{\lambda}} \right] \leq 1,$$

we find the desired result. \square

Theorem 4.8. For any $\lambda \in [0, 1]$ and $a, b > 0$, the following inequalities hold

$$\begin{aligned} \mathcal{I}_\lambda(a, b) &\leq (a\nabla_\lambda b)\#_\lambda \mathcal{I}_\lambda(a, b) \leq \exp \left[\int_0^1 \log \left(\mathcal{I}_\lambda(a\nabla_\lambda b, a\nabla_x b) \right) dv_\lambda(x) \right] \\ &\leq \exp \left[\int_0^1 \log \left((a\nabla_\lambda b)\nabla_\lambda(a\nabla_x b) \right) dv_\lambda(x) \right] \leq a\nabla_\lambda b. \end{aligned}$$

Proof. We apply (20) for the concave function $f(x) = \log x$ on $(0, +\infty)$. \square

Theorem 4.9. For any $\lambda \in [0, 1]$ and any $a, b > 0$, we have

$$\begin{aligned} \mathcal{L}_\lambda(a, b) &\leq (a\nabla_\lambda b)!_\lambda \mathcal{L}_\lambda(a, b) \leq \left[\int_0^1 \mathcal{L}_\lambda^{-1}(a\nabla_\lambda b, a\nabla_x b) dv_\lambda(x) \right]^{-1} \\ &\leq \left[\int_0^1 ((a\nabla_\lambda b)\nabla_\lambda(a\nabla_x b))^{-1} dv_\lambda(x) \right]^{-1} \leq a\nabla_\lambda b. \end{aligned}$$

Proof. We apply (20) for the convex function $f(x) = 1/x$ on $(0, +\infty)$. \square

Theorem 4.10. For any $s, \lambda \in [0, 1]$ and $a, b > 0$, it holds

$$m(s, \lambda) \left(a\nabla_s b - a\#_s b \right) \leq a\nabla_\lambda b - \mathbb{L}_\lambda(a, b) \leq M(s, \lambda) \left(a\nabla_s b - a\#_s b \right). \tag{31}$$

In particular, we have

$$(1 - M(\lambda, \lambda))(a\nabla_\lambda b) + M(\lambda, \lambda)(a\#_\lambda b) \leq \mathbb{L}_\lambda(a, b) \leq (a\nabla_\lambda b)\nabla_{m(\lambda,\lambda)}(a\#_\lambda b) \leq a\nabla_\lambda b \tag{32}$$

Proof. To get the desired result, we apply (17) to the convex function $f(x) = \exp(x)$ on $C = (0, +\infty)$ and we replace a and b respectively by $\log(a)$ and $\log(b)$. Taking $s = \lambda$ in (31) and noticing that

$$(a\nabla_{\lambda} b)\nabla_{m(\lambda,\lambda)}(a\sharp_{\lambda} b) \leq (a\nabla_{\lambda} b)\nabla_{m(\lambda,\lambda)}(a\nabla_{\lambda} b) = a\nabla_{\lambda} b,$$

we get (32) after simple manipulation. \square

Finally, the following result provides a refinement of (28).

Theorem 4.11. For any $\lambda \in [0, 1]$ and $a, b > 0$, there hold

$$a\sharp_{\lambda} b \leq \int_0^1 (a\sharp_{\lambda} b)\sharp_{\lambda}(a\sharp_x b)dv_{\lambda}(x) \leq \int_0^1 \mathbb{L}_{\lambda}(a\sharp_{\lambda} b, a\sharp_x b)dv_{\lambda}(x) \leq (a\sharp_{\lambda} b)\sharp_{\lambda}\mathbb{L}_{\lambda}(a, b) \leq \mathbb{L}_{\lambda}(a, b).$$

Proof. We apply (20) to the convex function $f(x) = \exp(x)$ on $C = (0, +\infty)$ and we replace a and b by $\log(a)$ and $\log(b)$ respectively. \square

References

- [1] V. Bacak and R. Türkmen, *Refinements of Hermite-Hadamard type inequality for operator convex functions*, J. Inequal. Appl. **2013**, 2013:262.
- [2] S. S. Dragomir and C. E. M. Pearce, *Selected Topics on Hermite-Hadamard Inequality and Applications*, RGMIA, 2000.
- [3] S. S. Dragomir, *Bounds of the normalised Jensen's functional*, Bull. Aust. Math.Soc. **74/3** (2006), 471-478.
- [4] S. S. Dragomir, *Hermite-Hadamard type inequalities for operator convex functions*, Appl. Math. Computation **218/3** (2011), 766-772.
- [5] S. S. Dragomir, *Inequalities of Hermite-Hadamard type for functions of selfadjoint operators and matrices*, J. Math. Inequal. **11/1** (2017), 241-259.
- [6] S. S. Dragomir, *Some Hermite-Hadamard type inequalities for operator convex functions and positive maps*, Spec. Matrices **7** (2019), 38-51.
- [7] M. S. Moslehian, *Matrix Hermite-Hadamard type inequalities*, Houston J. Math. **19/1** (2012). arXiv:1203.5300
- [8] C. P. Niculescu, *The Hermite-Hadamard inequality for convex functions of a vector variable*, Math. Inequal. Appl. **5** (2002), 619-623.
- [9] R. Pal, M. Singh, M.S. Moslehian, and J.S. Aujla, *A new class of operator monotone functions via operator means*, Linear Multilinear Algebra **64/12** (2016), 2463-2473.
- [10] M. Raïssouli and S. Furuichi, *On weighted means and their inequalities*, J. Inequal. Appl. **2021**, 2021:65.